RTET-2012-LEVEL-2

Series W : f Question Booklet No. : 721 []635
Code : PAPER CODE : §T2-2012 :

No. of pages in Question Booklet / T34z A e 7 104
1. Roll | 2. OMR Answer Sheet |
No./ No. {To be filled in by |‘
: the  candidate) [ |
et 3. ‘ AU, W wAi
(3rerel g ) o)
*** 3. Candidate’s Name / Q0emet &7 7 *** 4. Candidate’s Signature / T % Titler

*** As given in Application Form / T SR T s e v
Invigilator’s Signature / JF & gwTiK

[ T 2.

There are 150 objective muitiple choice uestions in this paper. This Question Booklet is made up of the follewing
four sections : Section-I, II & 11 of 30-30 questions vach and Section-1V is of 60 questions. The candidate sas (o
attempt all sections. Each question is of one mark, There is no negative marking for wrong answer.

W T R FA 150 990 apeEes 0 F) o Gogl | faufed ¥ aw ot @vg won st @ v
aﬂz.i,u@ﬁ[ﬁo-ao m%wm-weoﬁﬁmﬁlgﬁﬁm1ﬁwﬁlﬂﬁam$ﬁaﬁfﬁmwﬁmwﬁ#m :
PAPER CODE : ST2-2012

Total questions ; 150 Time period : 90 minutes Maximum Marks : 150
: No. of Question Nos. Page Nos.
Section Contents _Questions | From To From To
{I) Child Development and Pedagogy ' 30 1 30 3 14
(I Language I (Only One Language) 30 31 60

As selected by the candidate as medium of
instruction in the Online Application Form as
Language-l from the Languages given below -

Hindi 30 31 60 15 18
“English 30 31 60 19 22
Sanskrit 30 31 60 23 26
Urdu 30, 31 60 27 | 30
Sindhi 30 31 60 31 34
Punjabi 30 31 60 35 a8
Gujerati 30 31 60 30 472
(TH) Language II (Only One Language) 30 61 90 .

As selected by the candidate as Language-II { other
than the Language-l | in the Online Application
Form from the Languages given below :

Hindi 30 61 90 43 46
English 30 61 20 47 50
Sanskrit 30 61 90 51 54
Urdu 30 61 90 55 58
. Sindhi 30 61 90 59 | 62
Punjabi 30 61 90 63 66
Gujarati 30 61 90 - 67 70
(V) (IV a) Mathematics and Science : 60 91 150 71 B6

[F;r Mathematics and Science Teacher)

L4
(IV b) Social Studies 60 91 150 87 98
' [gclv{ Social Studies Teacher)

“¥or any other Subject Teacher
{Can choose either IV a ot IV b)

Note: I. In Sections Il and Hl, a candidate has to attempt the questions of Languages compulsorily, sel.cied
as Language - I and Language - Il in the Online Application Form. .
2. In Sections IV, it is compulsory to attempt the questions of Section IV (a) or Section [V {b) as selected

__subject in Online Application Form. For Hindi version of the above Table & Note refer to Page No.2
[ Read the instructions in English & Hindi at Page No. 104, last page of this booklet, |
LT 602 - {FT.0.

https:liwww.pyqonline.com



https://www.pyqonline.com/

9T FT : THodto 2-2012

FH 4 - 150 "ty - 90 firme qufa 150
g 9T HE e wE -
UL freg-wmdt T T 3 — 5 —=
{1 ﬁmﬂ@ﬁmﬁﬁrﬁ(ﬁmm) 30 1 30 3 14
(m WTHT - 1 (¥ C% W) 30 31 60
if g1 Tufaw SR W Amaw F o
S fefefen st 4 & Wl % w4
A amaET-us ¥ 3itEa B2
=t 30 31 60 is 18
st 30 31 60 19 22
oA 30 31 60 23 26
£ 30 31 60 27 30
t 30 31 60 31 34
A 30 31 60 35 38
Tt 30 31 60 39 | 42
() WTHI- [ (Fa& U&F W) 30 61 90
B HHAGRA  NeRA-IH ¥ wat
o - [, S oA - 1 W B e e P
T vrmed § | e v & :
30 61 90 43 46
It 30 61 90 47 50
fiks 30 61 90 51 54
o 30 61 90 55 58
famdt 30 61 90 59 62
g 30 61 90 63 66 |
Tt 30 61 90 67 70
v) | (v a) O T Fee 60 91 150 71 86
( nifore zren feramr femers & forw )
Hy=n
(IV b) STHITAS g 60 91 150 ‘| 87 98
( wmfores 3rerga T & form )
e
ﬁrdimqw}ﬁwﬁrmﬂiﬁw
(N%Emmwuq:marﬁ%
AT : i) ydtEndt EW 11 U2 |vg-I11 & A Hﬁﬁwmmmm-z W =11 & ¥4 8
Rk A ek R e -
bi) TUE-IV | TOHET GRY AT AEeE T3 H WU (IV a) 1 GV (IV b) ¥ Fr Tawm w1 waw fear & oo fawa
F 9w HEE ¥

e g & oifm g e 1mwaiﬁwﬁmﬁ?a‘?ﬁﬁﬂmﬁ&wﬁuil]'
LAl 602 4

https://www.pygonline.com


https://www.pyqonline.com/

L4 | 3

SECTION -1 / @veE - I
CHILD DEVELOPMENT AND PEDAGOGY

=T faema we foamemer
There are 30 questions in all in this Section.

All questions are compulsory.
WG H o 309 ¥
wslt vy aifemd €

1. Which of the following statements is not true about the effects of malnutrition ?
(A) It affects the brain cells in the later years of iife
(B) It affects the child's learning abilities
{C)  The children tend to be depressed and nervous
(D) It affects growth in height.
FIOFPREFMAFTA I AT IR T ¢ ?
S % AR % e o A w5 e gt
(B) 9% Tl @1 HiEA w1 s @ gifed F R |
<y T e e emvifewa e §
(D) 3E a A gufod Fa ¢ |
2.  Which of the fellowing is not an outward expression during puberty ?

(A}  Rebellion against authority (B) Restlessness

(C)  Assertion of independence (D) Prefer sedentary play to the active play.

9 i gm 1§ e § 4 9 9w afveafs @i € 2
@A) wyE /g & fagda faRy B) aremf

f’ —
(C)  RfRE ¥ 9f s D) ﬂmﬁ“%w%ﬁrﬂWﬁwm|
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3.  Which of the following statements is not in agreement with the development of middle

school children ?

(A)  The social behaviour is increasingly influenced by peer group norms

(B)  Most children do not grow rabidly during this period

(C) Self-efficacy becomes an important influence on intellectual and social behaviour

(D) Most of the students are typically self-centred,

fre § B F-T T fafen et w3 Tl & fasme. & el T @ ?
(A) A SRR ST e g & sy & wenfw a i ‘
N .39 sy 4 vy A de 1 9 gfs v T8l @

(€ ifgw vd omfes Saer W @-gwifaar &1 Heyul g9E g §

B) iy freneft fordts w9 @ wdfzA @ oA E

4. Which of the following statements is correct about the relationship of learning and

rnaturation ?

{A)  Where human development is due to maturation alone, individual would be

reduced to a minimum.

(B) With the limitation of heredity potential, children can develop beyond a certain
limit.

(C)  With increased effort children can learn even when they are not developmentally

ready to learn.

(D) Children’s innate capacities must be encouraged to develop without

consideration of time.
st & fgeem & sy i e § A eR-wm w2
) 3fe e frera Faw R @ 9 @ w7 dew e o @ G w9
B) v W G A 5, A T A S s e e 6w

R R L E Rl b LT T g " —— —
T

(D) e F sfifen whFEE @ fa e G AR 0 ¥ e S e e
=fgq |
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5. One of the principles of development is that happiness varies at different periods in

the development pattern. According to this principle
(A)  the first year of life is usually the happiest period

(B) the puberty is the happiest period of life and the first year is also the happiest
period of life

(C)  the puberty is the most unhappy period of life

(D) the first year of life is the happiest and the puberty is the most unhappy period
of life.

5

'
fasrg =1 w= afufam R & fawm v & fafim w5 § get fm-fis @ ¢ 5@ sfufrag %
SR

@A) St gug a gad afus gE F Fe o 2 {ﬁ
(B) T4 |4 %ol T Wiad w1 uw a¥ o faq # ﬁwqﬁmwﬁm%
(C) mnﬁumvﬂaﬂmmﬁaﬁmg:@%wﬁmé:h
') Stter @ wem od e stftren gt @ O qa wha e vl s gad @ g @
6.  Which of the following contributes most in the learning and development of children ?
(A) Family, Peer group and Televisidn (B) Family, Peer group and Teacher
(C) Family, Play and Computer (D) Family, Play and Tourism.
T 4 @ F9-T ol % s we e § e sifyw dvemA e ® 7
©) dfER, G @ #wgR (D) wiERr, & wE T4 |
7. To which of the following statements should a teacher agree ?

(A)  Intrinsic motivation occurs when learners do something to experience external
satisfying results.

1

(B) Extrinsic motivation occurs when learners do something to earn external

rewards.
(C) External rewards lead to permanent behaviour change.

(D) External rewards lead to intrinsic motivation.

W TR o
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v v F e ¥ @ feg weE | 9eWa e uifed 2

mﬁiﬁaﬁmﬂaﬂ?ﬁ%,ﬁﬁmﬂia@muﬁmmaﬁmm%%@
caierc i o

p/ T o 49 gt g, T AT S R W w0 o ol w1 w5 €
©) I R ¥ T Saer gfEdd g e )
D) T R A Sfion $EH W € o

o’

8., A teacher gives a blank outline map that shows the location of rivers, mountains.
valley and plains etc. He asks students to figure out where the major cmes railways
and highways connecting the major cities might be located. Stu&ents are not permitted

to consult books or other maps. Here the teacher’s approach is
(A) Discovery approach (By Concept map
(C) Problem solving approach (D) Enquiry approach.

@mwmmﬁmmﬁmm TETE, ferl 3 Wi weftfa w@ & 1w
faenfefdi =t g 7w, mawmﬁﬂﬁaﬁwﬁﬁﬁ%wﬁm% \ ferenfefaif
B 3 THH o WA B AT FA F 7 A T At @ | TET ENE ¥ B VI

IuwTe } | |
() @™ 39 lE}J A feam
({C) WEg |uTY IINTH \)ﬁ) FT T |

9.  Which of the following is not an example of Bandura's observational learning ?
(A)  Students learning of dissection of earthworm

(B) Enthusiasm about cricket
(C) Disdain for the study of social study

(D) Packing the school bag on ringing of school bell.

=1 8 ¥ FA-w IEE TG F FEed s e w w7

@) foenfdd g 93 & fa=daa &t d@e

@ e I (/‘)
\\(9)/ TR e & g e "f\_‘_,}

(D) @aﬁﬁaﬁaﬁﬁmaﬁﬁzmaﬂ|
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10. Rajesh misses a month of school because of his illness. When he returns to school, he
does not know how to do his long division .assignments. After a number of frustrating
experiences in which he fails long division problems, he feels anxious whenever he
encounters a division task. As per the classical conditloning theory emotional
unconditioned stimulus [ ucs ) is |

(A}  Amnudety about failure - (B) Failure / Frustration
(C) Long division problem (D)  Anxdety about long division problems.

T SO & FRO wh wE T faenera 79 ™0 |mﬁwmwﬁwm%aﬁm’mi
FOT TET S | %E AR & Frmers sigval § srhern €19 ol | o w3, At ¥ dme

a8 fafad g omm ® 1 weT sgaees fagr % gartas S wntEs gee $ =,
Ay SwE F A o AB SR / @
Q) &= Ym ¥ o D) T T e P fam
11.  Which type of learning mainly influences personality of the child ?

(A} Trial and Error learning (B) fmltation learning

(C)  Insightful learning . (D) Ir;;tmctional learning,

AeTF F ATHE B T TR T A s yefag s 2

A T T fe wfam (B) TN wAfermm

Q) Fragfeqel sifymy \JB( STRYATHE. STy

12. Which of the following statements about individual d-ifferences is true ?

(A} If the intelligence level of the students is same, still the level of achievernent will
be different, '

(B)  All the children do not have some similarities.

(C)  The curve showing individual differences is tilted to one direction or pole.

(D) Individual differences are due to heredity.

AT el @ gt e S maE w7

N4 a@ﬁmﬁhﬁwgﬁww%aﬁiﬂmﬁﬁfmamh/ @
(B) =t wesl N F9 ot wuEa T8 A '
(©) wﬁmﬁfmﬁ%wﬁamﬁaﬁwwqwﬁma&aﬂw@m%u

(D) =fwm fafiemd dusn S Fro e ¥ 1
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13. The following is an example of

Ancient
Egyptian

T

Contents ﬁ

Tombs

Architecture

( Old /" Middle
Kingdom_ \ \E{i'ngdom

——

@m

Tombs

\
Stone Statgs_/

Large Burial

— o N Eomplexes
{A) Diagram (B) Model
(C) Concept map o (D)  Graph.
= fax 3eew 3

A e B) WA &
Y0 TRE-mEtaR D) g faw

U
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14. Which of the following is not a projective technique ?

(A)  Play technique (B)  Word association test

(C) Picture association test (D) Case study.

e § @ F- doiw 98 TS TR ¢ 2 N
(A A TFAE (B) v mEwd v L’LJ
(© o= wead whem W R

15. Which of the following do not help in understanding the ethnic individual differences ?
(A)  Value system
(B) Verbal and non-verbal communication
(C) Different learning arrangements. & processes
[DJ} Intelligence.
yfarTa st fafverast @) waes o f § 9 @ wegr e & g ?
(A Ea EEEn (B)  nfegs Td - s ToEm
() v Ft wfeward o afv s D) gfzu /D

16. Personality is the dynamic organisation within the individuatof those psycho-physical
systems that determine his unique adjustment to his environment. This definition of
personality is given by

(A)  Murray (B} J. B. Watson

(C) G.W. Allport {D) Skinner.

| e @fe § 39 TRSiEs el 1 TS 9EE § S aae %
&1 FuifE o & =sfoaea =1 97 Ry 1 &

TV B) Wo &o qREE N
N R i o ' D) T | |

17. The intelligence of children is generally tested by
(A} Non-verbal group intelligence tests (B) Verbal group intelligence tests
(C) Non-verbal individual intelligence tests (D) V;.'rbal individual intelligence tests.
W SR F) gfg T A fa o r,ﬁ"
W s A W S g (g A i o e S
©) ¥-afes =ifFma gfs wierd & g . (D) aﬁmm_g@nﬂ&rﬁ%mr

INIHIIN : | eo,
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18.  Which of the following indicates the misuse of intelligence tests ?
{A)  Use in assessment for promotion
(B) 1.Q. labels tagged to children are used by teachers as an excuse for inefficiency
(C)  Use in classifying children
(D)  Use for improving learning process.
1 9 @ 31 afg whemit & gerdn = @ 2@ ¥ ?
() Al & ferd arE A werEs
D) G T T ATH WA FAAF A H-Fe H o
}b) A g O N
oF e s o e et
19. Which of the following is not. a characteristic of backward children ?
(A)  The educational attainment falls below the level of their natural abilities.
(B) They are unable to keep Ipaee with the normal school work.
(C)  Fall far behind other children of his age.
(D) Possess low intelligence.
P T Famd o e e T
AN s kT dred @ w R # A seaty 5 e w9
(B). wm= fagred w1 F @y 9 wfq 78 @
€ Tt 3 & wrer @ Fet fows W E

(D) % afg @ ¥ |
20.  Which of the following is a direct method of adjustment ?
(A} Projection ' (B}  Repression
(C) Regression _ (D)  Substitution of Goals.
e & R S sl vy gadem w1 ¢ )
A i | ® |
NGB (D) @ W e |

LU | (602 | -
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21. Separate classes and enrichment programmes can be used for the education of
(A) gifted children (B) low achiever children
(C) gifted and low-achiever children (D) none of these.
Yo el T HaHA FwH B W foen & ford foran e @
@A) wiawrel s F fad
By e e sumfer sree ¥ ford
) wiawrmeh @& = Sfers swafes awml % fod

(D) T 9 A |
22. Match the following and select the correct answer in the table :
List - A v List-B
L} Fantasy can be classified as a defence machanism 1. Denial
M) Defence mechanism_pfot.ects individual form 2. Escape
N}  Sublimation can be classified as a defence mechanism 3. Substitution
O) Compensation can be classified as a defence 4. Anxiety
mechanism
Codes :
L M N 0
@ 1 4 4 3
B 3 1 4 3
c 2 4 3 3
D)y 3 2 3 1.
=1 =1 firem @ g2 & ™ arferen § A W W o wEm w1
. Hﬁ' . _ -
L) T a0 U A & 9 aiied € A. TAHEAT
M EEE T A F ARG 2. A
N) IS F) IWE 75 6 TN qitga rm i wwA@ -3, v
) iy ) s o & w Y H aitga e oA & - M. fa= o
wIe
L M N o
\Lﬁ{ _ }_ 4 4 3
B) 3 1 4 3
( 2 4 3 3
D) 3 2 3 1

THIEREH &) [602] . | P10
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23. Students with academic difficuities face difficulty of
(A)  malfunction of the ear or associated nerves
(B) abnormalities in spoken language
(C)  reduced mental alertness
(D)  deficit in practical and social intelligence.
Wl T | I Aordl F g THEN A FO0 T2 § 2
A wawﬁﬂaﬁﬂﬁmﬂﬁmﬁmqﬁm
B 9T & SieH § STEmeET S
(C) wFfas |fwam &1 7 g9
\(pf  oTEEE v wmfeE gy § w6 @ e

24. Which of the following is a prdcessing deficiency in students with learning
disabilities ?

(A} Remembering information involving numbers. poor sense of time and direction
(B) Frequent hyperactive behaviour .
(C)  Little muscle control |
(D} Reduced mental alertness.
ity fraframedl el A # oo Tl i A Q few R 9wt o aeh € 2
(@) Femsi Tt gEasl i ag $0 8, 9w o e e
B) WA: iy Wiwa =aEn (/\
(C) wiedfyd w wH Frrso i\)

~ BT &0 Arfas Wi | \_

25. The purpose of formative evaluation is to

(A)  monitor progress and plan remedial instruction
(B) know the understanding of students

{C) know that teacher's objectives are fulfilled

(D) assign grades.

R gwies 1 30w !
WA TR TR EA UE ST SRV 1 G s

B) el = g9 =1 v @

(C) A F IL9 1 Yfd 1 9o s

(D) ZW Y&H F |

LT 802
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26. Which of the following steps of research makes research an action research ?
(A)  Formulation of hypotheses
(B] Action programme and final evaluation
(C) Generalization
(D) Rigid research design.
fr § } F-W Wy F1 70 Wy B S FTEH a7 ¥ ?
A sTmene & o
\AB  m R Fifem e
(C) QTR |
(D) Y T F A / BER G | | :
» 27. Which of the following problems is not suitable for action research ?
(A) Improving handwriting of 5th class students in Hindi

(B) Study of the effect of using written praise on 7th Grade students’ behaviour as
compared to verbal praise '

(C) Efficacy of computer aided instruction ovef_ffaaitional method.
(D) Use of Atlas and Globe in the learning of Geography.

a1 & | FA- T frarers saum & fol srgw T 2

W e B 5 3 i % o g

B) 74w & Fyifdl ¥ =EeR W fafan wwiw 1@ AfEd W F gEE & s
3T

(€ v fafy % TR Fog TEEfaa STRYE &1 39E
AD)  yia & sy A teew uE g w5 yE |

28. Which of the following is not addressed in the Right of Children To Free And
’ Compulsory Education Act. 2009 ?

{A)  Providing training facility for teachers
N {B) Ensuring admissicn to children of migrants
(C) Deciding the academic calendar

(D) Education after fourteen years. :

Wﬂﬁnﬁwﬁ.ﬂﬁaﬁ fonen = sifuey, 2000 f1 ¥ @ ffg W wm i femmn & 2

(A) mmmﬁf‘ﬁmwﬁqﬁmmm (B) mmaaﬁ%maﬁgﬁfmm/?
(0 THfrw Ferex Y Frifa S \;m/ 14 ond & wyara &1 faan /”Rij/l

JHELTE @) . | PT.O.
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29.

30.

14 v
In the National Curriculum Framework. 2005, the activities suggested celebration of
cultural and religious diversity of India, programmes to promote an attitude of respect
and responsibilily lowards women and compile documentaries and feature films and
screen them that promote the values of justice and peace are for
(A)  Education for Peace - (B) Education for Values

(C)  Education for Citizenship (D) None of these.
T Teu= € 0@, 2005 ¥ wRa F1 uilies @ giepts fGfavm £ 59, fog & i gm0
v famerl & gfedn % agn & 9Im & srEeE @ oga o adn feed #) uEs we w

fegrn % meam @ =y wd Wik § 9fe &, + g ™ R afs (7
(A} Wit ) faen = w wBY” TeEl F e @ 51 wF
(€) ArfEwa it foan < o @ (D) 3T ¥ FE T |
Match the following and select the right answer from the table given below :
List - A List - B
L} Organising the experience of the seed germination 1. observing
process
M) A role play 2. questioning
N)  Dialogue on gender-differentiated practice in the 3. participating
famiily |
0O}  Processing and packaging different kinds of 4. reflecting
products in dairy farm
Codes . '
L M N. 0
A 3 4 1
B 2 3 2 1
iC) 3 1 3 3
D) 4 2 2 2.
71 =1 foei %d g3 @ T wfers § | @) I w oA
el - et - &
L) S siERa §1 # saE WEE S 1. SFqrsd wE
M i frafe / 9@ @ 2. W B
N) vﬁmﬁéﬁmﬁﬁﬁwmaﬁﬁﬁmmmawmmamm 3. M
0) v ¥ fafie gy & sl #t wfE o a,. faam / wm w0
g fe= a< Fw.
IS ™
L M N o /@
1 - 3 4 1 )
| 2 3 2 1 /
) 3 1 3 3
D) 4 2 2 2

LA | 602 .
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' ‘@U's' -1I
T - 1

fe=t

W@ g 30T E
vt woq st & |

ey I Y gt frefofad S ( W e 319 36 ) # waq Sfea fawen g

A T F T § AT A ¢ a9 @l $ FH F Yeu # I e HER
favfo F ORI S 1 U A § 3§ @ o ¥, S T 1 9W givm st % w9 A qE ¢
foret 3% Torg SR 3 fads oR wfea S0 | A ova S@ § 5 9@ i3 | # 58 q9E @
W 2, 44 & o g e w0 § ol awi-ome A R ¥ 1 9 A FW A o0 wW §, 7@ T
T e EE T | Em A S Ianw 3 W wef fau T F0, wifs e & fag @
3% fok Fm #) TEwEa & g o & A o w wl g 3R TR TRE T F T g
w7 d dmd ¥ 1 Qv Sahe U TR § ol A wm A afve Tt w6t 8@
o (fog oM 3 dom 0 €, TR W FW € | '

31. = o acm = 7 €

(A) W@ B aEEd
o o) EwEE
32. ‘&' % aEa ¥ |
W | N> S0
© D) @ |
33, ‘gam’' % faem
@ ¥ ® FEm
© s | Nl
34. aﬂff—mjtaﬂmﬁ%? '
(@) wsEE | wif) STt
- s | ) T
T : ero
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35 FTANH T T ?

@ fa=menmn B) A vREN
(C) umfwa AD)  FUE
36. ‘e’ & gl ¥ 9 wee srdTa ® 2
VI 4 . B) 3
HAel (D) A |

fi e 1 gge Frafafes gl ( 9 dEn 37§ 43 ) ¥ TSP fasey g ;

W F w39 H fafem safe %1 wad vl wwem g7 €t ¥ 9 ruet migsm § e | &
1 9FA & | el IRa € S 2w ¢ foad Tl safs ae wwen s # S oreR, wgur A 2w @
o 751, fa=g 30l A fows e sw@f<ry €1 | G691 & 3= <9 § gEEpa afe 9% wHe I €
foad W § A W g 1 EE TR R e 9 94 @ fF I9e W F o oEs
W7 Ffa FH § a9 AE-F9E W AR FA-6 Fioai v i g @ ¥ vra § el gea g
el yA: W W NI F AT Sus df g €, fe ot W w #E ges @ ufEe
fear =8 et | 9% e & @ e Waeifos wiear & oftom 2, fg 9 e 7@, g
€ % o Vo 9% I% O wEE €, ' AW o9 &1, wel oyf ¥ fufaq ok gEwed wa @
- 1 T SR e

37. TR & 95 3w W fofew =afw \

.\/mf FqAt T A g g ¥ B) oSt s #
€ we-fod o ¥ (D) 399 W EHE e § |
38. ‘'sien § foamel <uar swfery 81 ¥ @ifed ve &1 o4 € i
B R | fifemm
€ g D) A=
39, FFTF IR ?
() = AEE B) - Faar
\Aa ST HIGHTH (D) &= |
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SECTION - 11
LANGUAGE 1
ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

Prose Passage I ( Q. Nos. 31 to 37)

31.
32.
‘33.
34.
35.
36.

37.

Global warming is defined as the increase of the average temperature on earth, This
increase in the earth’s temperature is the cause of natural disasters which are
becoming increasingly frequent all over the world. Carbon dioxide, produced by the
use of chemicals and the burning of fuels, is the main cause of globa] warming. High
levels of carbon dioxide trap heat in the atmosphere. This can have serious
consequences for the climate of a region.

Global warming can cause many natural disasters. Prolonged and widespread
droughts, heavy floods, very severe storms and melting of glaciers are just some of
them. There will be more hurricances and cyclones in many parts of the world. It
seems that the world is totally unprepared to meet the crisis. Countries should get
together to find ways to check global warming. Vehicles, buildings. appliances, etc.
must display high standards of energy efficiency.

The word ‘totally’ is similar in meaning to

(A} clearly {B) always

(C) completely (D)  truly.

The opposite of 'frequent’ is

(A}  infrequent (B) unfrequent

(C} disfrequent (D) anﬁfrequcnt.
Which of the following words 1s correctly spelt ?

(A)  Oppertunity (B) Oportunity

(C)  Oppartunity : (D}  Opportunity.
Pick out the correct noun formed from the adjective ‘high’ :

(&)  length (B) tall

(C)  height (D)  hieght.

The phrase ‘to make something last longer’ can be replaced with
(A)  provide (B) prolong

(C) longing : (D)  belong,

Which one of the following is opposite in meaning to the word ‘global’ ?
(A universal (B) local

(C) Grban (D) rural.

Pick out the correct verb formed from the adjective ‘natural’ :
(A) nature (B} naturalization
(©) naturalize (D)  naturize.
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Prose Passage II ( Q. Nos. 38 to 43 )}

38.

39.

40,

41.

42,

43.

44,

Health is usually defined as a state of complete physical, mental and social well-being
and does not consist in the mere absence of diseases and injuries. On the other hand,
wealth is defined as abundance of valuable possessions. Health is wealth simply
because a healthy life is life in all its abundance, joy and fulness. Without health, life
would be full of anxiety and fear about diseases and injuries. With health on our side,
life automatically seems to be full of happiness and laughter.

The best thing is to concentrate on being healthy and to avoid unhealthy activitles, If
you strive for health, there will be others who will follow you. will be inspired by you
to have that mutual objective which is a healthy life. In this way. you can have many
more acquaintances and [riends, and with more friends, obviously your life would be
happier and healthier. Anything that promotes health will almost alway$ start and end
with joy.

The word ‘absence’ is

(A} anoun (B) a verb

(C) an adjective (D)  an adverb.

The word ‘always’ is

(A)  a conjunction - (B)  an adverb

(C) anoun (D)  an adjective.

In the second sentence of the lirst paragraph, the verb phrase ‘is defined’ is in
(A) Simple Past Tense : (B) Simple Present Tense

(C) Past Continuous Tense (D) Present Continuous Tense.

In the third sentence of the last paragraph ( In this way, ... }, the verb phrase is in

(A}  Present Perfect Tense (B) Simple Past Tense

(C)  Present Continuous Tense (D) Simple Present Tense.
Which one of the following can have the determiner ‘an’ ?

(A) healthy activity (B) strong hand

(C)  activity (D) | injuries.

The adjective ‘full’ in its superlative degree is

(A)  most full (B) fuller

(C) fullest | (D)  fullerest.

. The passive voice form of the sentence “Global warming can cause many natural

disasters” will be

{A} Memy natural disasters are caused by global warming

(B) Many natural disasters can be caused by global warming
(C) Many natural disasters can caused by global warming
(D) Many natural disasters could caused by global warming.
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45, Pick out the sentence with the correct passive voice form :
(A)  All the chairs have been repaired
(B)  All the chairs are been repaired
{C)  All the chairs have being rapaired
(D) All the chairs were been repaired.
46. Which of the following sentences has the correct structure of a question ?
(A)  Where average lemperature is increasing ? '
(B) Where be average temperature increasing ?
(C) Where is average temperature increasing ?
(D)  Where does average temperature increasing ? A

47. Pick out the question to which the sentence “Wealth is defined as abundance of
valuable possessions” will be an appropriate answer :

(A)  Why is wealth defined ?

{(B) Who defines wealth as abundance of possessions ?
(C) When can we define wealth ?

(D} How is wealth defined ? |

48. Which of the following pairs of words has the same vowel sound ?

(A)  book, shoes (B) head, red
(C) sign, sin (D) throw, three.
49. Which one of the following pairs begins with the same consonant sound ?
(A cat, city (B) game, gym
(C) know, name () party, photo.

50. The correct transcription of the word ‘news’ is

A /nju:z/ ' B) /nlu:s/
(C) /nju:s/ (D) /nu:s /.
51. The role of English in India is that of
(A) the first language (B) the mother tongue
(C) a foreign language (D)  a second language.

52. Pick omt the pair which falls under the category of expressive or productive language

skills :
(A} listening, speaking _ (B) reading, writing
(C}  listening, writing (D)  speaking, writing.
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53. In the Bilingual method
(A)  students are given complete freedom to use the mother tongue

(B) . the mother tongue is used by the teacher to explain the meanings of new words,
phrases, etc.

(C) the teacher teaches the entire lesson in the students’ mother tongue
(D) the teacher encourages students to use the mother tongue all the time.
54. In the Situational Approach a teacher tries to
(A} follow a syllabus with a list of situations
(B) adjust teaching to the situation in the classroom
(C) create a life-like situation in the classroom for teaching a 1anguag€ item
(D) show how the situation in the classroom is different from real-life situations.

55. Which of the following pairs is usually described as receptive skills 7

(A) Listening, speaking (B)  Reading, writing

(C} Listening, reading (D)  Speaking, writing.
56. The use of teaching-learning materials makes the activity of learning

{A) unnecessarily difficult (B)  dull and challenging

(C} unnecessarily slow (D) easy and interesting.

57. Language learning is like learning

(A)  a skill like cycling (B)  a subject like physics

(C) a collection of facts as in history (D)  abstract concepts as in philosophy.
58. . Evaluation in education is

{A) continuous, but not cumulative (B) cumulative, but not continuous

(C) neither continuous nor cumulative (D) both continuous and cumulative.
59. One of the requirements of a good language proficiency test is that it must be

(A) complex (B) reliable

(C} ambiguous (D) enjoyable.
60. An attainment test aims to measure

i

(A)  how much a learner has learnt of what he has been taught
F

() how much a learner needs to learn to pass an examination

(C) the speaking ability of a learner

(D) the teaching ability of a teacher.
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80, M .cocoovcrerrnnn,, AR F IRA BT E |
@ W B W
©) &0 F o W
81. fidra i faem = gormers fafy &
(&) fagia yoned (B) wAfawt fafy
| (C) = woret (D) g faf |
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82. W 9= &1 YN & 2
(A)  wEda A (B) Fd 9eA
© o= T _ (D) T Jred |
83, feEFm GauaeR F IV F farm a7 & 2
A YT I=R™ ' (B) H& 9EH
) wfaa us ' (D) wfafafa |
84. W HIVAl H WEH Ige fmg v &1 faerg wen wfgy ?
(&) e B} ar=d
(C) Ham (D) FER ).
85. HIF HYT TG TR & ?
(Al SIS Fa fua # ygE A ?
B) AT el R fags 1 F e snurag @
©) ~ gy g #1 anA §, ana 38
(D) wrewgE feor w1 Wy ¥, Qe e o
86. vl foerr & gva- w=2 WAl F T @ qe WA 8
A Toam § fafaya @
B foenfiiai =t fafim sfsal =1 faamta 39
(C) T=Fa H F§ER HE
(D) TARSA FE |
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| SECTION - Il
LANGUAGE 1l
ENGLISH

There are 30 questions in all in this Section.

. All questions are compulsory.

Prose ( Q. Nos. 61 to 65 )

Many thousands of years ago all men did all types of work. Each man built his own
house and made what furniture he needed and grew all his own food. His wife made
all the clothes for the family and cooked food. '

However, men very soon found that it was much better to divide the work among
them. so that one built houses. another made furniture, and another grew corn. and
so on. You can easily see that this was a better plan, because by always doing the
same kind of work, you can do it far more quickly and easily. So nowadays all work 1s
divided as much as possible. Even such a tiny thing as a pin is not made by one man,
but by a dozen or more, each doing his particular bit of the work. One stralghtens out
the wire, another cuts it into lengths, another sharpéns the point, another puts the
head on, and so forth. That is to say, work is divided among different people.

61 In the third sentence of the second paragraph, “So nowadays all work ..." the word 'so’

indicates :
\/lﬁ effect ( of a cause ) (B) cause ( of an effect )
W similarity (D) comparison.
62. The word ‘However at the beginning of the second paragraph indicates
c\yﬂ/ a supporting idea . ' (Bl an old idea
‘ (C) an idea in the same direction \Jﬂf an idea in the opposite dire;:tlon.
63. Complete the following sentence with the cofr_ect verb form : |
All WOrk ..ooovviininiiiiineanns by all men.
v{ﬂ]/ was done (B) were done
~AC) has done | ' (D) are done.
64. Which one of the following ur-buld. be an appropriate title for the above passage ?
(A)  All Types of Work . Types of People
V(C‘) Division of Labour (D)  Life in the Past.

65, Tht; author of the above passage is of the opinion that the way people worked
thousands of years ago was

(A)  better than the present \JB]_ most proper
{C) most efficient , (D)  not efficient.

UIHRIIAL cal 0.
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Poem ( Q. Nos. 66 to 70 ) '
The squirrel gloats o'er his accomplished hoard,
The ants have brimmed their garners with ripe grain,
And honey-bees have stored |
The sweets of summer in their luscious cells :
The swallows all have winged across the main :
But here the Autumn melancholy dwells,
' And sighs her tearful spells
Amongst the sunless shadows of the plain.
Alone, alone,
Upon a mossy stone ' \
She sits and reckons up the dead and gone,
With the last leaves for a love-rosary ; '
Whilst all the withered world looks drearily,
Like a dim picture of the drowned past
In the hushed mind's mysterious far-away,
Doubtful what ghostly thing will steal the last
Into that distance, grey upon the grey.
66. Who has been personified in the above poemn ?

The squirrel (B) The autumn season
\}e]' Honey-bees (D) The r;’.ummer season.
67. In the above poem line 2 rhymes with lines
{A) land3 (Bl 4andé6 @
(€ 5and7 " \AD) Sand8 -
68. . “Their garners with ripe grain” ( line 2 ) contains an example of
o)  simile (B)  metaphor
«(C)  alliteration . (D} personification.
69. Which of the following lines contain a simile ?
(A) lines 14 and 15 - (B) iines 11 and 12
(C) lines 3and 4 ' )  lines 1 and 2.
70. The rhyme scheme of the last four lines of the poem (line 14 to 17 ) is §
T
) -abab B abed - @
© abchb D) abbb. . N
71. The modal ‘may" can express the meaning of :
A advice : (B)  ability
(C)  possibility _ . (D)  prohibition.
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72. You must not park your cycles here. Here ‘must not’ expresses

{A) permission prohibition

(C)  inability (D) probability.
73. Most students got through the examination,

Here ‘gotl through' means

(A} took o (B}  passed

\)ET understood . (D) arrived for.

74. A Shakespearean sonnet usually contains

(A)  seven couplets (B}  four stanzas

(C)  three couplets and two stanzas J2  three stanzas and a couplet,
75. An elegy usually gives expression to a A

(A)  feeling of joy (B) sense of loss

~€)  feeling of victory ' (D)  sense of defeat.

76. The number of pure vowel sounds and diphthopgs in English is

(&) 8 pure vowels and 12 diphthongs - ). . 14 pure vowels and 6 diphthongs

(C) 12 pure vowels and 8 diphthongs (D) 10 pure vowels and 10 diphthongs.
77. The first sound in the word ‘yes’ is transeribed as

@ sy/ ' (B) /e/

. sar/ ~AD) /.
78. Which is the correct transcription of the last sound in the word ‘blue’ ? y,

N /uy ' (B) /O / |

© / Uey @ /ool )
79. Pick out the correct transcription of the word ‘take’ :

(A)  /tek / B/ telk /

“C} /taik / (D) / teek /.

80. Which of the following is the correct transcription of the word ‘know’ ?

81.

82,

W /new / B / nat / /
€ / nvy D) /knoU /.

English in India today needs to be taught as
A)  alibrary language ’
(B}  alanguage for higher studies

\M a language for communication

(D) a4mnguage to be used while travelling abroad.
English languaée teaching needs to be

A} teacher-centred \/(Q] learner-centred
(C) lecture-centred (D) textbook-centred.

(IR s . iero
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83. Communicative Language Teaching stresses the interdependence of

(A) . language and psychology (B) language and behaviour
) language and communication | I[D) language and conversation.
84. The most important element in Communicative Language Teaching is
A the structure of language (B) the reading skill
(C) ° memorization of grammar (D) . meaning.

85. A language learner makes errors because
~_M)  the learner has acquired only partial knowledge of the language
(B) the learner has acquired complete knowledge of the language

(C) the learner enjoys making errors
(D) * the teacher has permitted him (o make errors.
86. Complete the [ollowing statement :

Language tests are designed to measure ................ chvmivan at a parti'cular morment in the
teaching programme,

(A)  the learner’s liking for the language
(B) the learner's knowledge of the language
(C) the teacher’'s knowledge of the language
: ¢\‘1'(;)')/ the learner’s attitude towards the language.
87. . One of the purposes of evaluation aof learners is

{A) assessment of textbooks =,
(B) preparing a list of learners’ needs @)
-\121’ assessment of the learners’ attainment ‘\-/

(D) identification of language functions.
88. Multiple Choice Questions
(A) reduce sub_]ectiwty in evaluation
(B) increase subjectivity in evaluation
(C) allow essay-type answers '
oJPl”  allow students to choose multiple options.
89. A 'Recall-Type' tesl is a test of
(A mcfnory {B) imagination
(C) understanding AD) speed.
90. The purpose of remedial teaching is to
{A) introduce new language items
\AB) Test recently taught items
(C) teach again the Iang;lage iterms not properly learnt
(D) teach again the language items already learnt.

LTI o] -
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GV G B)

€) 3IHY (D)
62. '@l s W guE: 2

A)  ITEvE: (B)

© &% (D)
63. 'umd:' O % w2

W (B)

c = | D)
64. THNERUFERS: GINRYAT gdwy; faadq |

TaErfgaug = fefa: ?

I S L (B)

(C) g ' (D)
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@ = (B)

(C}  g=amm (D)
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66. ‘'‘TTen: gd i’ g geemen siedad —
@ e i At B)  wFe: yd et
(C) = gl (D) e T A
67. '‘oaamy’’ wesfem e s wfh 2
A} T (B F4:
© 2 (D) v ¥ Ef
aiferfad Tarvmyiec Y Een 684: 74 T4 W WHISET:; —
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FRUE 7WE FRAWE: v vafd |
68. FEYE FHETUEN wafd ?
(A | B) wu=A
€ R D) WA |
e & s 2
@) TEgEy (B) WEA-3:&H
(O mEq-wfee (D) weg-w |
70. T s g e wf ferd weERe 2
W e | (B)  TIwHly
© whfag (D) wafeg |
71, AR g AR BNg; —
&) =i+ | B) =M+ =
© e+ 5 (D) o+ T |
72. “‘WETEa:’ T w: TA: ?
(A)  TegEs: (B)  3rggivE:
(C) wHuRE: (D) wEAfE: |
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73. ‘gezal’ ¥9A *: Y4d: ?

@ (B)

(C) = (D)
74. “'weqUin snoq@siid werard wery

arr sfiar fadrorgd form 2

(A HEHH (B)

(C) <Y (D)
75. "®’ oty =Ry faud —

(a) 7uf (B)

(O (D)
76, Tu T3 90 Y w1 ¥

() T 9= g (B)

© fo g gt (D)
77. € o uA TqIF |

TFTERG SreARadd Fod —

(A) "= d v S (B)

(C) € 7R v = ( (D)
78. ST:TUFUIAI FH: F: ?

A 1.9,1,9 (B)

€ 3.1,49.9 (D)
79.. "m:ﬂ'{a?ﬂ'@ﬁ "

qraafae deivga — .

W BT T At - (B)

(€ B T TR (D)
80. ‘‘=wrememeRfaaea FE .o, wfraany "

fareem qafae gfed Fmfoge —

() fu=fa (D)
81. " e SaEA: W 1

Ty Hisd fafy: ?

) Freetafy: (B)

(C) smrHfafy; (D)
AU AT [e0z]

ECL
Hig: |

faa1: g3 geafa
fam 93 Fvafa
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" T vq g |
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oA TR TIEpd |
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82. fvmafad: yam: 3 fwad 7

(A)  Fefae B) vt

(€C) Te=amm (D)  TEfdEr |
83. Wo dto Wo drRleTuRIgdR Hepatnem Fea faq: yam: Fa: ?

(A) Aty B)  weaufay:

(C) UrEwTeay: (D) UISTYEEEd: i
84, WpguITEOE Af<rd Five faod — -

(A)  HEINUR (B)  Huomq

(C) dUedq (D) @& | }
85 ITEIeRsiNg foyg 7

(a) ol g g vaf B fawoieg gammea: 8w S

() or-faarerdl: Fa wEfd swfd (D) SYEw Fyd gead_ |
86. foemm: wyay sewd % swdq ?

(A) YA (B) TEHIEAH

(C) Wiy Torfarahra: (D)  weswon |
87. TINEY FACHEHTE YOG % (FId ?

A (B) TO&@

(€ g (D) SO |
88. HHWUY fa Hrieqy ?

W gorEn (B)  WEEmEEH

(C) v¥H (D)  WINU i
89, #: YA Igey qidwdt yafq ?

(v T (B) 3o

© fo: (D) g&*H:
90, BENT gor@: TEen dfwstd: =

Feged: qleE ?

NI £ (E L) m B TS w9

(C) TTgweE W3 (D) e W
IIEHE [e0z] .
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SECTION - IV / @Us - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections constst of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 guestions.

T @ue § 3 SEvE 9 IV(a) TRA wer AT T Iv(b) Rrfes e E A STevE F T
# 60 Sgfameda ¥ & |
rrft&nﬂff—mr‘?W{a]nﬁmﬁmﬁaﬁarwwmmm,ﬁﬂmwamﬁqwéﬁwﬁm
¥ Y fFd uw STEvE &) O § ud W 60 W H ST AT E |
SECTION - IV (a) / TYE - IV (a)
MATHEMATICS AND SCIENCE / Tfora war fagm=

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions. A

M @vs H FH 60 T © |ﬁﬁ3mﬁi?ﬁﬁwﬁwaﬂamﬁm%ﬁmﬁmmaﬁaﬁ% !

91. Which of the following is not equal to { 32)° ?

@ 3° | B 93
© 272 D) 63
e A fraw A (32)3F T AR € ?

(ny 368 B 9°
() 2772 (D) 63

92. Which of the following is true for {a + b)) 2-a2+b%2+2ab?

(A) Itis an identity : (B) It is an equation

{C) Both (A) and (B) are true - (D)  Neither (A) nor (B) is true.
(a+b)2=a2+b2+2ab FMAFAT AN TAE ?

O TE T weul ¥ B 7% TF FHE§

© (&) @1 (B) A TAE - D) (A} 7N (B) I HEAE |

93, On dividing the expression 27x3 + 27x2 y + 9xy 2 + y 3 by y + 3x. the quotient and
remainder are '

x3 x5
A}  9y?+ 6xy + x2, zero (B 27 —g-+27x2+21y, - 817
4
(C) 9x2+6xy+y2-, Zero (D) 27x2% +27x + 21y, —81x—y .
S 22x3 + 27x2 y + Oxy 2 + y 3 H y 4 IxH WM B T A TOAFS 71 9 FR §
: | 3 5
@A) 9y2+6xy+x?. T (B) 27’; ¥ 27x2 4 21y, -81%
. 4
C) 9x2+6xy+y?. A D) 27x2 + 27x + 21y -81‘;—-.
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94. There are 54 students in a class. If the number of girls is g times the number of

boys, then the number of boys is
(A} 24 (B) 30

© 36 (D) 45.
@ e § 54 fomel § 12 oENsl 9 wen, BEi # wen F ¢ T € A o6l 1 wew #

A 24 ' (B) 30

€ 36 (D) 45.
95. Which of the following statements is not true ?

(A} Number 25 is a perfect square number

(B] Number 38 is not a éerfe_ct square number

{C) The square of an odd number can always be written as sum of two consecutive

positive integers

(D) The square of an even number can always be written as sum of two consecutive

positive integers,
fAd 4 sH-w S v R/ ¢ ?
() Hen 25TF qof i e
. (B) wem 38TF i o wemn wl R
() Tt faom dem & 9 Fi & FAME vAAE qoiRi % A9 F w9 F w9 AG HUEHA €
(D) foreht ®m WEm & i i < HAIR EACHR TUIH F A F €9 H 6D AD FFAA ¢ )
96. Which of the following statements is false ?

(A}  Discount = Marked Price ~ Sale price (B) Discount = Sale price - Cost price

(C)  Profit = Sale price — Cost price (D) Loss = Cost price - Sale price.
= & BFR-w Fud o § 7

@) T2 =3ifed qea - ok e B ¥e =fawa 7o - %4 qed

© = e -%a e D) o =% 9 - o ge |
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97. It a:b:c:d then numbers q, ¢, d are in continued ratio if

(A) ab = ed ) (B) ac = bd

€) b=c 19)] a=d.

AE a: b:c:d W AN a, ¢, dfgwaqam o 24t € afg

A} ab=cd {B) ac = bd

€) b=c _ (D) a=d.

98. A sum of Rs. 210 is divided between Ram and Shyam in the ratio 7 : 3. The amounts

received by them are respectively [ in Rs. )

W 147, 63 (B) 63, 147 .
(C) 140, 70 | (D) 180, 30.
210790 il T AR V@AW H 7 : 3F UG W WA W I F R WW 97 ( 599 F ) HA9: A
(&) 147, 63 - (B) 63, 147
(C) 140, 70 (D) 180. 30.

99. Which of the following is not equal to the compound interest on a sum of Rs. 48,000,
for three years at the rate of 5%, calculated yearly ?

(A) Compound interest on a sum of Rs. 48,000, for 1 % years, at the rate of 10%,
calculated on the basis of 6 months.

(B) Compound interest on a sum of Rs. 48.000, for 1 year. at the rate of 15%,

calculated on the basis of 4 months.

(C) Compound interest on a sum of Rs, 48.000, for 9 months, at the rate of 20%,

calculated on the basis of 3 months.

(D) Compound interest on a sum of Rs. 48,000, for 1 year, at the rate of 15%,

calculated on the basis of 6 months.

=1 4 A F57 W 77T ¢ 39 Iwgfg = F W fF 48,000 Fo W, 3ad & fow, 5% w7,
it feae | &man | ?
() THEIE =S 48,000 W, 1, T4 F A, 10% T & 6 7N F fewra A

(B) THGIG = 48,000%0 W, 174 & fAY, 15% W H, 4 7EH ¥ fewma 4
(C) ¥Fgfg =9 48,000 %0 |, 9FEH| & fAT, 20% & 4, 31gH & fga= |
(D) wRafg =19 48,000%c W, 134 % f0, 15% T &, 6 WA & feaq= @
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100. If a person X sells a saree of Rs. 100 to Y at a profit of 10% and Y sells it to Z at a
loss of 10%, then how much { in Rs. ) does Z pay for the sarece ?

@ 99 | (B) 100

© 101 D) 90.

#1E =® X. 100 To F1 TF FET H 10% H o9 T YR a9 § i yId@ @E : 10% &1
FRAA ZFITNE 1T Z IH TS H e Fo H wlwa & ?

@A 99 B) 100

) 101 D)  90.

101. When two parallel lines are cul by a transversal then which of the following is true for
the angles formed between them ?

(A}  Interior angles on onc side of transversal are equal '
(B) Alternate angles are not equal

() Corresponding angles are equal

{D] Exterior angles on one side of transversal are equal.

gfe @ g s U fodw T wedt € @ 38 9 g e & fag e F | Fmew
HYT GA & 7

(A) e T ¥ UF WE T4 e 4 HV a0al g E
(B) USHT=R FI0 TR e a1 €

() Ea =i e g ¥

(D) s T & UF T 997 9 9%l I SO g § )

102. What is the minimum number of components required for construction of a

quadrilateral ?
a 4 (B) 5
© 6 (D) 3.
& 994 ®1 T * fau 39 F9 9 w0 fee sragd 99 €7 oavds € 7
a4 (B) 5
C) 6 (D) 8.
103. Area of a trapezium is given by
(A) Base x Height (B) é Base x Height
{C}  (Sum of parallel sides ) x height (D) é— llsumlof parallel sides ) x height.
e IS 1 ATFA e
(A)  SER x S (B) 5 SHR x T
(C) ( urat S[onsl 1 W ) x T (D) 5 ( WA S &1 A ) x S |

URIRIERA IR ‘02| -
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104. The 'surface area and volume of a cylinder of radius r and height h are given by

respectively
A nar?h 2nr(r+h) (B) 2nr(r+ h), ar?h
© ynrZh 2nr(r+hn) | O nr(r+h)ar?h

rfaem aen h“ﬁyﬁiéﬂ?{mq@m@ﬁwaﬂlwmzﬁ

(A) =wr2h 2rr(r+h) Bl 2nrir+h).nrth

() %nrzh.znr[r+hj D) nr(r+h) arZh.

105. Which of the following is not a condition for the congruence of two triaJ:gles ?
tA]- All the three sides of a t.rian@e are equal to three sides of other triangle.
(B) Two sides and the angle between them are equal.
(C) Two angles and the side between them are equal.
(D}  All the three angles are equal.
i § & F-w 7w A P 1 gatren fag F9 ¥ fag i e o
@) 2R e # A e s ¥ wE
(B) 2 Y=¢ 3R T =re T Hi0 T E
Q) @ F IR I A O SOE E |
(D) i v S A |

106. The mark TH\L is known as

(A) tally mark (B) frequency
(C) pie mark - (D)  bar mark.
fa= \’\H\L FEeT ¥

@ ¥t fag ( firem faw ) (B) SR
© TR fw® D) 3vs E |

NI 602] - | P10
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107. Histogram is used lo represent
(A)  non-continuous grouped frequency distribution
(B) ungrouped [requency distribution
(C)  continuous grouped frequency distribution
(D) all of these.
(A} 3TAq TR aRERdl WA (B)  3TTHd ARARA F27

() wadg Avfigd SHERd 52 (D) T Fusf
108. The frequency distribution table for the data 7. 2, 3, 5. 6. 2.9, 3, 21is
(A) Score Frequency _ (B) Score Frequency
2 3 1 7
3 2 2 2
4 0 3 3
5 1 4 5
6 1 5 6
7 1 6 2
8 0 7 9
9 1 8 3
9 2
(C) Both (A) and (B) (D) Neither (A) nor (B).
#FS 7. 2. 3, 5, 6. 2. 9, 3, 2F foau avana wFe7 wfon #
W qHawar B) @R T
2 3 1 7
3 2 2 2
4 0 3 3
5 1 4 5
6 1 5 6
7 1 6 2
B 0 7 9
9 1 8 3
9 : 2
(C). (A} T (B) W (D) (A) A (B) BF H B FE T

TTRENTIR o [eoz -
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109. A group of students went ,hfmner holidays and performed various activities as
given by the following diagram_ What is the name of this representation of data in

statistics ?

[
{A) . Histogram | J ” - (B) Bar diagram
(C) Pie diagram o (D)  Frequency polygon.

ﬁmﬁtﬁm%%nﬁﬁtaﬁgﬁ% r fafim yor #1 nfafafual =1 s f& = fam gro
ﬁﬁ%lﬁf@ﬁﬁ%ﬁﬁﬂﬁﬂ*ﬂﬂﬂﬂﬂ%ﬂ%?

@) s B wwEfm
© = fa= (D) SHIRET AGYS |

110. Representation of ungrouped data by columns of equal width, unequal length which
are equally spaced is called

(A)  Histogram o - (B)  Bar diagram

(C) Ple diagram - i (D) None of these.
mﬂﬁmmmaﬂw Mh{wm{ﬁwﬁuﬁwﬁmmﬁhﬁﬁmm
Feor ¥

(A) 3 e T B Twsfa

© i feo e D) T R wE AT |

[ P.T.O.

b

(TN o
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111. Mathematics is that language in which the God has written the whole world or

universe.” Who said these statement ?

(A Galileo _ (B)  Russell
(C)  Plato (D)  Hamillon.
‘Tﬁ‘TﬁaE T ¥ fod quver A geqel s o wenvs 6 foa fear ® 177 g wen e ® 2
Ay Frefer B @™
(C) i (D) efiea

112. According to Prof. Shulize, the basic aim of Mathematics teaching is
(A} helpful in other disciplines
(B}  developmerit of mental powef
(C} proper use of leisure time
(D}  to make aware of the basic and genefal principles.
R Yool % ATUR MW Ye a1 Tufte 3t ¥
(A) TEd fawsi ¥ werEdr wem A B) Omfgw vfw 1 fawm
(C) @reft 999 F1 T9g9am (D) W 9w fagral @ gfem s

113. "The students who can’t understand geometry are not allowed to enter this school.”

This statement is of

(A) Aristotle . (B) Herbert

‘{(C) Plato (D) Hamilton.

it faeneff smfiafa =T T wa 3 3R Tamem 967 o e 17 9 @A feme § 2
() T ' B)

€ =@ D) T

114. Inductive method is suitable for

(A) establishjng the formula (B) solving the problem by formula
(O understanding the problem (D)  formulating the problem.
s ity e 6 otk fore e & 2 '
() ¥7 wafia $3 F fa C(B) WA F) GA g 7@ S & ferw
(C) T H wHA F fog (D) &&E F w91 F T

TET ooa] -
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115. Originator of play-way method is

(A) Froebel (B3) Dalton

(G} Montessori (D)  Sigmund Freud.
aa fafy & s €

(A) e (B) EWA

© HoeEt D) fgve wEE |

116. The subject Mathematics is important in curriculum since it
(A)  helps in the study of science subjects
(B) improves logical thinking
(C) is useful in daily life
{D) all of these.

b

nfora fawa 1 wETET § e & 0 @ _
(A fage fawdi & svermq & wemow § (B) wirE e # fawigd Fa ®
©) = Siiw § s E (D) T 9wl
117. Which of the following is not used in language of Mathematics ?
(A) Mathematical forrnulae (B) Mathematical symbols
(C} Mathematical digits (D)  None of these,
Tforg @ ar # e F | forwan wam =€ fea s € 2
(A) o e (B) T T
() Titrdta TEmad (D) TH 4 Hrg Tl

118. While playing Ram makes a quadrilateral with four sticks and makes the following
table in a copy : '

Number of quadrilaterals 1 2 3
_ Number of sticks 4 8 12
What conclusion €an be drawn from his action ?

(A) Ram is playing

(B). Ram is doing mathematics

(C) Ram is doing mathematics along with play

(D) Ram is playing and not doing mathematics.

A ¥ S W =R HfEE @ T g a0 @ T Rk w5 A Fre il amm e

AT TG 1 2 3
Ll Aftiwmiwen 0 [ 4 g8 | 12
ot 38 viww & w7 Fred frren < g ® 2
(A) THEA R B W 7w = @ R
Q) M @E % WY Tow H @Y (D) T FEH W W R I R R W

T e e
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119. Rémcdial teaching is required for
(A)  mentally retarded children (B)  weak students
(C) average students (D) all of these,
- Iy faan w wE@ A @
W W= gfg 9= & fag |) fwe w=i & foag
(©) \me w= F fag (D) wH A wdl F e
120. What case must be taken while selecting a good textbook of Mathematics ?
(A)  All the questions in exercise be solved
(B) It must contain a sufficient number of examples and questions in e;cercise
(C)  The number of examples is more and questions in exercise are less
(D} The number of exar‘nples are less and queslions in exercise are more.
Tifor T TS W G % 999 & 69 T fRE W o egm v Afen 2
(A)  YEEE % W Y F 6 g el
(B) AT Wi § I TE UG § e &
(C) 347G N WEAraeit § W F0 &
(D) 3TV FA TU TG § T SR E |

121. Example of fibrous root is

(A}  Mustard (B) Gram
() Maize (D) Carrot.
WER qef 1 ISR

A (B) =

©) W (D) TS

122. Communicable disease cholera is caused by
(A} Clostridium tetani (B) Mycobacterium tuberculosis
{C}  Mycobacterium !eprac (D) Vibrio Jcho[erae.
weHT 7 &S A w0
(A) ey feit (B)  UFEEERIEY Sqarage
© e d D) fafar F

1T 602 .
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123. Some organisms obtain their food from plants as well as from animals. They are called

(A)  Omnivorous (B) Herbivorous
(C) Carnivorous | (D)  Predators.
F9 Sa-w=] Yg-ds) wd Rl H eR F U H e wd € | 3% &ed §
() wafETd (B) Wi
(C) WiEmETl D) T
124. Penicillin is obtained from _
(A Virus (B} Bacteria
Q) Fungi {D) Algae.
el A sltafy wa *7 St ? .
@ fmma | B)  Sftarg &
¢ waF " (D) YA A |

125. The transformation of a larva into adult frog is known as metamorphosis. The

metamorphosis is regulated by

(A} Thyroxine hormone (B) Growth hormone
(C) Adrenaline hormone (D) Insulin hormone.
Trew ¥ oral ) qa%h § T B SRR Hed § ) e F e g §
(A)  grRifer gEE @ B ofg Fnila A
() ufgfe st A D) e eEE E
126. Fuel deposited in large quantity under the ocean sea-bed is known as

(A) Clathrate (B) Uranium

~(C) Thorium | 19); Cellulose.
TR # aeedt § W e A s S ) wed €
TR SU e | | B Ffwm
© s (D) A |

127. An object is placed between two plane mirrors kept at 50° angle. How many images of
the object will form in the plane mirror ?
(A)  Four (B)  Five
Q) Six | ' (D)  Seven.
T TRe50° HI0 W T T S waae 9 & Teg @ T ¥ | vad o | e F fead wiafea
07
@w  =r | i
c = (D) 9| |

Tt [eoa] e
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128.

129.

130.

131.

132,

82 W)
27 kilogram weight is equivalent to
(A) 27 newion (B) 9.8 newton
(C) 264-6 newlon (D) 2700 newton.
27 fHeTe YR ged g1
A 277 F B) 98FAH
(C) 2646727 % D) 27007 F |
Noise intensily greater than ..o is painful for human body.
(A) 10 dB (B) 30 dB |
(€) 60 dB (D) B8O dB.
e, W AR WerE@ VIR WS T F T FeewEw € .
a) 10dB B 30dB
([C)- 60 dB : (D) B0 dB.

Property of solid matter. in which material is directly changed into gaseous state
without undergoing into liquid state is known as

A sublimation (B) condensation

{C) solidification (D)  vaporization.

Srm el @1 5 T forad S wansd fa a otewen # wger W fta sreen # wfaffa @ v R,
I8 ed § ' |

(A) - SeduET B)  HFH
© fove (D) =T |
Which of the following planets does not have natural satellite ?
- (A) Mars (B) Earth
(C)  Jupiter (D} Venus. |
Pt § © fare TR % WphiE SwE W ¥ 2
A WE B gt
() Tewfd (D) |
Who invented LASER ?
(A) W. K. Roentgen : (B) Godfrey Hounsfield
) T‘_lg_eodore Maiman (D)  Albert Einstein. '
LASER &1 @ fae &1 ot ?
(A) Yo o e B) TieH TEEFITS
() fagrer #497 (D) o AFRA |

AR [eo2} -
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135.

136.

83 ST-2

. Which of the {ollowing metals exists in liquid state at room temperature ?

(A)  Sodium (B) Mercury
(C)  Sulphur (D)  Thorium.
freifend § @ #99. f uig, FR F 99 Wz dawen § R A g 2
) Sfequ , (B) O
(C) e (D) difEs
Example of thermosetting plastic is
(A) Polythene (B) PVC
(C) Melamine (D) PET.
ofiafen wnfes @ e § BN
() wefte (B) i
(C) HAWEA D W=
Polymer of cotlon is
(A} Cellulose | (B) Rayon
(C) Glucose (D} Fructose.
FUH FT AGAF &
(A S B w@A
(C) TS - (D) HE |
Which of the following gases is responsible for Greenhouse effect ?
w CO, ' (B) CcoO
€ 0O, D}  NO,.

. Fretitha § & ®0-#f g g s gwE % fore SR § 2
) CO, (B} CO
€@ Oy D) NO,.

137.

Maximum number of electrons in an orbit of an atom is determined by
[ n = Orbit Number )

AN 2n | B) 2n?

C} (2n+1) 8 n.

T 1 ) wen § i sereel o den 9e 1 S R
(n=F@mF"EEM)

{a) 2ng@ (B) 2n 23

€) (2n+ 1)81 (D) ngd |

UL s02} - | PTO.
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138. Atomic number and mass number of an element arc 98 and 251 respectively.

139.

140.

141.

The numbers of electrons, protons and neutrons in the element will be
{A) 98, 98, 153 (B) 98, 153, 153
(C) 98, 98, 251 (D) 98, 98, 98.

ferst a0 1 WY A T FoA9H WE wEY: 989U 2561 €, @ 3 g, Wiel au g
#T T HH: B

(Al 98.98, 153 (B}  98. 153, 153

(C) 98.98. 251 (D) 98, 98, 98.

Which of the following is used as artificial smoke or cloud at film and drau{la stage ?
(A)  Liquid oxygen (B) Liquid hydrogen

(C) _Liguid carbon dioxide - (D) Liquid nitrogen.

firew wdl res ¥ o9 9 Him gl s sRe v & fou Freifea 4 @ feas swEm fra s
22

() FF S (B) ¥E TEEH

(C) 39 T SRSTFERS (D) &9 TS |

Which of the followlng products is used for construction of roads ?

(A) Coke (B) Bitumen

(C) Paraffin (D}  Naphthalene.

fcifara § | FA-7 INE WEF A & FH A o S g 2

(A) W B fagaa

© HufE | D)  Forel

“Science is the investigation and interpretation of events or phenomenon that occurs in

natural environment and within our own body.”

Above mentioned definition of science is given by

(&)  Albert Einstein (Bl W. C. Dampier

(C) J. Jacobson (D) B. S. Bloom.

g Srafifer ST TH TR 993 YRR A wfed e T g 1 STEH T e §
e fora 1 s e 4 2 | |
(A) I AR B) T=go Ho THRR

€) o FETH | D) o THo =T |

L (802 ] -
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142. Who established the Indian Parliamentary and Scientific Committee for improvement of
Science teaching ?

(A} Jawaharlal Nehru (B) Lal Bahadur Shastri

(C)  Indira Gandhi (D)  Morarji Desai.

fastm fogror o o % fog ifemm wfdfanied v wRfefies w03 #) v feas o & wh o 2

) TERTETE AEE (B) @A sl IS
(C} e mdt (D) =T 49 |

LY
143. Which of the following methods is used for teaching science in the present era of

technology ?
(A)  Programmed Instruction (B}  Team Teaching
(C} Computer Assisted Teaching (D}  All of these.

FAHM dFATH) g0 H, Fafafaa § & @0 -9 vfafy faam faao § fag saam #t s & 02

W ASEEE e | B) <@ oo
(© Freget HeEfaa foem D) T A
144. Which of the following is related td Psychomotor objective ?
(A)  Organisation (B) Perception
(C)  Valuing | (D)  Analysis.
frefafea ¥ | FR-91 98 TomaS I8V & A o ¥ 2
(A) T (B) WAL
(C) sHeH (D) fagdiwm |
145. Taxonomy of educational aims / objectives is given by
(A) Krathwohl (B) B. S, Bloom
(C) Robert Meger | (D) Gyan;:.
mﬁ%ﬁﬁxm@ﬁmmﬁw%ﬁmﬁmw% ?
@) weE B o THo =
(C) TR AW - (D) T

NRINGHYINE (e02] - [ PT.O.
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' 146. Which of the following methods is not child centred method ?

(A) Lecture method (B) Project method

(C) Demonstration method (D) Laboratory method.
frfaftaa § 9 FF- awa wfza fafa =i & ?

(a) = fafy (B) Wi fafy

() wam fafy (D)  wanTemen fafy |

147, Which of the following is not a demerit of Project method ?
(A}  Teaching haphazard and discontinuous
(B} Costly method
(C)  Availability of reference book
(D)  Related with real life.
frafafaa # @ FF-w oo sgfa s A A ? 2

()  foamr arqui v fas@a (B) =¥ WA UM
(C) W=y Y= w1 STET&Al (D) ardfas Sted | gataE |
148. How many main steps are followed in Project method ?
(A)  One (B}  Four
(C) Six (D)  Ten.
wrrer fafu & frad qea | v g € 2
@A) T (B) SR
) @ (D) 39|
149. Which of the following is not a qualitative test ? |
{A} Observation (B) Check list
(C) Rating scale (D) Objective questions.
7 9 ¥ F1 W oeEE wen @ R 2
(W Friam B)  <ita g
© Ymwm ‘ (O) TS 9
150. Which of the following is an audio-visual aid ?
(A) Documentary film (B)  Bulletin board
(C) Epjdiascope (D)  Flannel board.
o 8 Q#1991 957 gvg 9 ® 2
ECERCE B Fgoifd &
() fo-fawma 49 D) W A |

THIRMWHm [602] -
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SECTION - IV (b) / @YE - IV (b)

SQCIAL STUDIES / Q¥ 3599

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

g aEvs H §d 609 § | T snvafddi 4 3w fowa & 99[ e § 3 9t WA T afqard €

91. The third decade of 20th Century was significani in Indian history because
{A)  ‘Annals’ by Col. Tod was published
(B)  copy of Kautilya's ‘Arthashastra’ was discovered

(C) Ashoka's inscriptions were deciphered
e

(D) Indus Civilization was explored. wﬁ/@“'j”"
o
WRATa fagma | 20 & vt 1 @90 9w Jequl @1

() F o F TR FTERA gIN (B) Fifera Tafes ‘ sfwea’ #1 wfafafy foedt
() e & foreretEt S 98 v ) ey wem i Es g
92. Which of the following statements is not true ?
(A)  There was a decline in Samskaras in Vedic society
(B) The spirit of 'Vasudhaiva Kutumbakam' has been Laught by Vedic culture
(C)  The treatise Ramayan is smaller in size to Mahabharata
(D)  The elderlics are considered heads of families in Indian society.
- fm A A wE-w e a2 @
oy dfeF i WA SR FE @ —
B ‘a4l FoEmy' F e Afew Tepla w1 W R
(C) TV WEINIA i 3138n org Ha }
(D) WA T A wd -y Y oftam & giea ae e @

93. Which of the following is not a main cause of urbanisation ?

(A) The decline of cottage industry B) Rapid population growth
(C) Rising prices (D)  Lack of essential amenities.
ﬁmﬁ%mﬂmmaﬁq-mmmﬁﬁ% ?
.\yn/ FE FA # 7T B e SHE gig
() gt wEmE (D) snavgs glawsi # SYE |

IRTHI IR 6oz| - | PT.0.
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94.- Which of the following was contemporary to the Harrappan civilization ?

{A)  Crete civilization (B)  Egyplian civilization
(C) Greek civilization (D) Roman civilization.
e § | S-S g gvaar &1 GeEl ot ?

\u( Wi AW : (B) o= g
() A |8 (D)  UTA Tgal |

95. Which of the following statements is not true regarding the efforts made to improve
the status of women in Indian society ? o
(A) Vireshalingam Pantulu formed an organisation in support of Widow remarriage at
Madras Presidency
(B} Jawaharlal Nehru and Subhash Chandra Bose supported the demands and more
freedom to women
= (C) Pt. Ramabai made efforts to improve the condition of women in higher classes
\)) (D) Tarabai Shinde supported the orthodox beliefs regarding women by publishing
: the book "Woman-Man Comparison’.
9redtd ware § gieens #t feufe § qur & fewm o f6d W vt ¥ w=d A fra 4 | whh-w
wYT Ul A& 7 2
() wE S § diefem 9ge A favar-faar F wRdq # o W s o
(B) VEEIAE Yo Ud gy O a9 3 afewiel ¥ fau sifusw @ ud 9w aneds fFma
") fem Tamard A S onfedl w6t nfgensi @ gdwm gue W yare R
(D) @R TR A ‘E-gew g’ am A feae yeifad w1 e & 9t wfgad fand
T fea | .
96. “The employees earn salary while peasants plough the king's land.” With reference Lo
which ruler was this statement made by the Chinese traveller ?

()  Harshavardhan (B}  Chandraguptal
(C)  Chandragupta 1l (D)  Samudragupta.
‘et ST ¥ weafe fram osn w ft Sad € 1 S i w1 3R Fee TR uE &
a=Y § e T ?
A wdads B) T I
(C) ==H 11 (D) SETH |
97. Which Chola ruler captured Kanchi defeating Pallavas ?
(A) Parantaka I (B) Adityal
(C) Vijagalaya ' (D)  Rajendra Chola Il.
o =Tl YTeE - Yooral it s SiEl W AfUER R for ?
,\/é] T | B el
© fomem | (D) T a1

AR | 602 ;
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98. Which South Indian dynd‘-‘.ty dw1df:d the State into Nation ( Rashtra ). Kottam and
Village ( Gram ) ? -

(A) Cholas (B) Pallavas
(C) Rashtrakutas (D) Chalukyas.
efeqor wma & g Tody 3 709 @) W@, FigH qw g § fasnfea feam 2
() (B) Hrmd
~d e O} T
99. During the rule of which dynasty did Kanheri University became popular ?
(A) Rashtrakutas _ (B) Cholas
(C) Chalukyas (D) Pallavas.
e ToEe & w99 Fe ) fovafaac 9f6g g ? .
) TEHE RV I
(C) - e (D) Yeod |
100. In which state is Rampurva's Ashoka pillar with Bull Capital located ?
(A) Bihar (B} Bengal
(C) Assam _ (D) Uttar Pradesh.
TR &1 g yidaTen s @ fag e F ¥ 7 @
&y faem ® s
(C) 2mEq (D) I TR |
01. Which of the [ollowing sainls propagated Sagun worship ?
(A) Kabir (B) Nanak
(C) Nimbarka (D) Dadu.
s ® |/ T ufes = TeReE 99 o |
o wE B AEF
() Fr=ms | (10U

102. Which of the following statements regarding Mughal Art is not true ?

(A) “lbrahim Roza’ is in Bijapur
(B) Akbar got Fatehpur Sikri built after 1585 A.D.
(C) Akbar's tomb is in Sikandara
(D} Shah Jahan got Takht-e-Taus built in Delhi.
T FIeA Fell F A H BA-F FYF FHEI ¥ ?
(A) sverq ® ‘gEmelE e’ R
(B) @R ¥ FAEq Wl 1585 To F WG TG

L) HEFR R fawr<u 8 €
(D) R 3 fooeh # 9@ 9=E s

AW TE (02| - - (rrO.
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103. Maharana Pratap died at the age of

(A) 67 years (B) 54 years

(C} B7 years 185} 49 years.

TETVI YAN & YoY & WHY HY At ral

@A) 6749 B) 5sadad / ' JW'
g p7ad D) 4979 | ‘

104. The 30 per cent cotton cloth export of the total Indian expori around 1800 A.D. was
reduced in 1870 A.D. to

A} 25 (B) ‘13
C) 8 (D) 3. | .
9 1800 & \-TW vRed frafa ¥ gft F92 1 yiawd 30 @, S 1870 3o T wHR fEA
giaerd ® T ? |
JA 25 (B 13
() 8 D)y 3.
105. In Modern Age. women too encouraged writings for awakening and social reforms.
They wrote several books. ‘Aamar Jiban’ published in 1876 A.D. was written by
(A) Rashsundari Devi (B) Kailash Bashini Devi
(C) Roquaiyya Sakhawat (D)  Pt. Ramabai.
Hfeenal 3 o RO Td arf guR ¥ s wT § oa w1 5 e fen o g e
IR E T fodl | 1876 Fo H weRifer do AR <o’ #) wfew o

W gl o A e e
() THA I (D) dfem TEE |
106. The Constitution of India was adopted by
[A) Constituent Assembly (B) Parliament
[C) Lok Sabha (D)  Rajya Sabha. /(j
f\,&{ SiE A TR T |
Q) @ AW E (D) TS T g |
107. In which part of the Constitution of India does the term. ‘Secular’ was added later on ?
(A) Fundamental Rights (B)  Directive Principles of State Policy
(C) Pregmble (D) All of these.
iy e wemEet, T ae & Sren T, Sed Wit wfau & frm wm d e @ 2
@) vifaw sfuwr § B A s 9o o
e s (s § D) FHIAWR ) )

AR IR 60z - -
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108. Which Article of Children's Bill of Rights ( 1992 ) says. "I have the right to know about

" my rights™ ?
(A)  Article 42 (B) Article 12, 13
(C) Article 23, 28, 29 {D) Article 36.

el & sfsr fae (1992 ) F FE-W AT 9 Few §, P W sfuai w5 I w0

sfu=pR 2" 2
~x” ST a2 _ - (B)  gwR 12, 13 /@

(C) 3IT=T 23, 28, 29 (D) =T 36
109. Which of the following is not a f[undamental right ?
(A} Right to Equality (B} Right to Freedom
(C) Franchise , (D) Right to Constitutional remedies.
= # | 3w diferr i T € 2 :
(A)  FEEE W HfERR (B) TEdAa H Afww
(C) wagH w1 AfywR | D7 HaufrE sTER @ sfuer |

110. In which Article of Part IV a' of the Constitution have Fundamental Dulies been
incorporated ?

(&) 51a B) 42

C) S0a ' D) 52

e Fed |faum % 9/ 1V F F by srgede F waifea € 2 N
51 (B 42 /@/

€ 50 D) 52.

I11l. Which of the following statements is not correct regarding the Election of the
President ?

(A)  The objections related to the election can be raised only in the Supreme Court
(B) The votes of all MLAs have equal values

- (€}  The votes of all MPs have equal values
(D) The nominated members cannot exercise their franchise.

g A | wEtE T 9o ¥
N T R Hﬁﬁmﬁaﬁfﬂ%ﬁﬁqwﬁﬁwm%
@) Wt faurl & T T go v §
(©) et wiwgl & W gA I T §
_ (DL~ Tew TaeE # wm TE @ TR €
112. The 73rd Constitutional Amendment for making Panchayati Ra] Institutions more
effective and more powerful was passed in ,

(A) 1990 B) 1991
© o2 D) 1993,
T U wesdl 1 AWiEl TE wue 59 % fore 73 9 wfaue e fea od oifim gan 2
(A 1990 B 1991
© 1992 D 1993,

L | . | P.T.0.
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113. What percentage of Women's reservation was availed of in the election of local bodies
in Rajasthan in August, 2010 ?

(&) 30 B) 33

(C) 50 (D) 10.

ToRed ¥ T, 2010 ¥ g0 g ferd F e | wieened 3 smem % e iawma @ ey
I3 ?

J @ 33
J& 50 (D) 10

114. The Head of Municipal Corporation in Rajasthan is called

(A) President (B) Mayor
(C) Chairman (D) Nagar Pramukh.
ToreE A AR e F Y@ F wed € )
(A) A | (B) HETR
Jor”. [vafa (D) TN WG |
115. The total number of members in Legislative Assembly of Rajasth
A) 200 (B) 180 - \
© 160 D) 210. -~ \,,l,)/
ey faurTast ¥ $ ael o qe '
A) 200 (B) 180
) 160 (D) 210.
116. In which ocean is 'Mariana Trench’ located ?
(A) Indian Ocean _ (B) Pacific Ocean
(C} Atlantic Ocean (D)  Arctic Ocean. -,
forg wRTATR # * Afcarn e’ from ¥ 2 | @
) fe= wWET (B) WO HRETHTR yd
(C) . 3T HETETR (D) 3T g9 TR |
117. According to area which is the largest and smallest continents of the world ?
(A)  Africa and Australia (B)  Asia and Antarctica
(C) Asia and Australia (D} North America and Antarctica.
S 3 SN W v 1w 9 St Hed T wenH ¥ ' ;
(A) I T e B) Ui g Rk
© v e srgfea (D) ST0 AfE ud gRvhfew |
118. Which one of the following is not a sphere of the Earth ?
(A) Atmosphere (B) Ozonbsphere
() BfSsphere (D)  Lithosphere.
Prefafea # | S T 7t %1 Rved T8 ?
A arEvEE B) A wvew @
(C) St #usH (D) T4 AUEH | —

LEIRUNTIIRY [eoz] -
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Marble is an example of
(A}  Metamorphic rock (B}  Sedimentary rock
(C) Igneous rock (D) Plutonic rock.
T U IR §
(A wrErRE 9 W . (B) &9 WgTT H
(C) &3 wgH # D) wRIE TTH
The combined action of weathering and erosion is known as
(A)  Decomposition (B) Hydration
(C}) Carbonation (D) Denudation.
A TH AT I TYH v i wwd €
A HTHEA (B)  S¥elreRur
(€) wEAYH - (D) =S |
Which one of the following is not a metallic mineral ?
{A) Bauxite (B) Copper
(C) Chromite (D) Mica.
frfafed ¥ A w7-w v uifes afw Wi ¢ ?
@) s ®
(C) s D)  AYF |
Which pair is not correctly matched ?

Type of Resource Example
(A) Non-renewable Resource — Natural Gas
(B] Natural Resource —_ Water
(C} Biotic Resource _ — Forest
(D}  Ubiquitous Resource - Copper.

e AR w2

YT YR ECiSu
(@)  IETE g — T |
(B) wpfa® d@eA — EL|
(C) = "EmH — CEl
(D) e HEmA — afar |
The concept of sustainable development is related to
(A) maximum use of resources (B) conservation of resources
(C) 4mdustrial use of resources (D) developfnent of power resources.
e, drvii fosra 1 AU # ey § |
(A) HEHA & SAfysay 39Em A (B) HOE ¥ Hrmw |
(€)  wEEi ¥ affeifirs sodm @ (D) ol g ¥ fawe | |

(LT [e02] -
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124. One of the main causes of wildlife loss is the

{A) loss ol natural habitat {B) construction of dams
(C} flood (D)  urbanisation.

a7 Sffdl % F9 TR F UF TE FO §

() Rt STETEl w1 A8 € @) @ o

C) =€ - (D) FHL

125. In which one of the [ollowing regions of the world intensive subsistence agriculture is
most prevalent ?

{A)  Temperate region (B) Mediterranean region
{C) Monsoon region (D) Semi-arid region.
feva o Freifafaa 9 | foa wF wu A mea Fafe iy afvs gafm@ @ 2
(A} T g2 (B) AN W @
(C) A wew (D) YR W -
126. Which landform is known as ‘roof of the world" ?
(A)  Great Himalayas (B) Pamir Platecau
(C) Tibetan Plateau (D) Deccan Plateau. _
AW Y-TFR TaE M TT F W AT SME 7 @
() Tl fereE ' B wHRE B
(€ o= 1 weR D) TR TN |
127. In which state of India ‘Kal Vaishakhi' winds are usually prevalent during summer
season ?
(A}  West Bengal (B)  Assam
(C) Orissa (D)  Bihar.
yRA ¥ T T 7 e g § qme Fe dedl’ ged wed § 2
() ufeem EmE (B) oTEH
() It o) faEm |
128. In which area of India is 'Yak animal found ?
(A)  Sundarban (B) Arunachal Pradesh
(C) Darjeeling (D) Ladakh.
e ¥ fa & & 7w vy freran § 2
@A) g=EA (B)  3TEUmTEd Yo
(C) arsHfe (D) @TE |
129. Which one of the following places is having manufacturing unit ol antibiotic medicine ?
(A)  Hrishikesh (B) Dehradun
(€) Shimla (D)  Chandigarh.
- FyeifafEa § A 59 T wH W daEiien el # IeE H5E E 7
(A) @R B) EU
() fermen ' D)y HEmE |

NI 602 .
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130. In which year was "Consumer Protection Act’ introduced in India ?

@) 1982 . 1986

(C) 1988 . 1991.

yra 39 g afufram’ fea ad § s e w2 @
A) 1982 1986

(). 1988 1991.

131. Which one of the following statements is corrcct for the Aravali ranges ?

(A) Helpful in rainfall

(C) Acl as a water-divide
frefefEa § @ SH9-1 U 99 A0a Aol & foag agdi € 2

(A) T H GeEEH

(C) & fawrsis &1 &4 & §
132. Which one of the following is a traditional method of rain-water harvesting in

Suitable for hydro-power production

A barrier in transportation.

wiet forggd 37 & fere 3w
yftagq & fau sEavs |

’  Rajasthan ?

(A) Tank Well
(C) River Tanka.
freafefaa § 9 $9-T1 TF Torym § 991 9 SUew #t wond fafy 7 2
() ' Fail
© = i |

133. In which district of Rajasthan is Chhabra Thermal Power Station located ?
(A) Knta Baran '
(C) Jhalawar Sawat Madhopur. .
e F fom oot A oo oy oo &= faa & 2 -
(B)  F . art @

Q) drErE REIERIE I
134. Which of the following pairs is not correctly matched ?
Industry Location
(A} H.M.T. —_ Ajmer
(B) Ball Bearing — Alwar
(C) Cement — Morak
(D) Electric meter —_ Jaipur.
freiffad & @ F-T g T gt T
£ W
W feeEm i T () — SRR ’D‘
(B) d#fe faaf — s u
© W= — me®
(O) foeE Hix — IR |
[802 ] - . [ P.T.O.

i

https://www.pyqonline.com


https://www.pyqonline.com/

ST-2 96 | W |

135. The main mica producing districts of Rajasthan are

(A)  Ajmer. Bhilwara and Jaipur (B}  Udaipur, Chitlorgarh and Rajsamand
(C)  Bhilwara, Chitlorgarh and Kota (D)  Jaipur, Dausa and Tonk.

ToRdM o W@ 3uF IARF 9 €

(A) 3o, sfierarg H FAg @) seaq, fedtee i oewER

(© e, fadiems i Fe (D) g, < 3 I |

136. For heritage conservation, in which year Monument, Archacological Site and Antiquity
Act was implemented in Rajasthan ? '

(A) 1961 (B 1971

(€) 1947 - D) 1952

faqma & TR ¥ T, Y T CE TR ] i (R ¥ & @ g ?
A 1961 B 1971

() 1947 (D) 1952. '

137. What is ‘Balad’ ?
{A] The tradition of Mand singing
(B} A herd of bulls, on whose back commodities for sale are carried by Binjaro
(C) A synonym of ‘Aulayn’
(D) The event of taking cattle to other land areas to explore the availability of food-
water in the wake of famine.
A
() = MEA H WET
B)  faUe ® ww AW wge, frae Wi WA oed fawa &g @ s s @
€) ‘e’ & vaigErs
(D) 3/ 78 T Al S 9R-oH F @ d o - W o 9w e |
138. Which of the following statements regarding the Rajasthan hero Manikyalal Verma is
not true ? https:///www.pygonline.com
(A)  He was born at Bijolia
(B} He was a peasant in his early life
(C) He was connected with the Bijolia peasant movement for a long lime
(D) He became the Prime Minister of Greater Rajasthan after independence.
TSRAR ¥ TFEE Wi a0 i A e A @ whRem e smeE v 7
(A TR o fasiifern 6 oM o
(B) ﬁﬁmwwm%mﬁwmm
© 3 fasifern ffam oT<em | o 99 9% g W
(D) @ Wi % 999 o GETR e & qUrTEEl o1 o
139. In how many volumes is 'Vatan ri Phulwari’ the invaluable literary hentage of Rajasthan
is divided into ? ‘

w B (B) 10
© 12 - (D) 16,
o 1 A el tRe A 4 el e wvel | svas 2
(a) 8 B 10
© 12 (D) 16

LLT (02| -
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140. In which district is the historical place ‘Mangarh'’ situated ?

(& Dungarpur | (B)  Pratapgarh
(C} Rajsamand (D) Banswara.
et e ‘amg’ o F feu o | fem @ 2

@ $RR (B) AU

(C) TeEE= - (D) afFarEt |

141. The study of Social Science is necessary for

(A The understanding of the socio-cultural structure and its relation with
' environment

(B) The development of infra-structure facilities
(C) The rapid economic development
(D) The understanding of educattonal problems. '
gt fage sreras 1 savawa €
(A)  wrfaE-wigfos @oan @ 39 wiEw @ vy 91 g9 §F fau
(B) elamm gRawsh & fyam F fag
(© ta sfiw fawma & fiau
(D) Jerfors Twemsdi Ft g ¥ fay |
142. Which one of the following is the new concept in Social Science ?
{A)  Accumulation of factual information
(B) Study of social customs _
(C)  The study of human relations and betterment of society
(D) The study of international relations.
frefafaa 4 | armfss fagm & T&im deem sR-d@ ¢ 2
&) AT gEE R T A @
(B) @i wenadi =1 sreaA G
(C) WA W W g 9ue 7 48 4
(D) ITRRUPTY G-} T AL[YT |
143. What is a prime necessity for a Social Science classroom ?

(A)  Site, formation and space (B)  Attached library and reading room
(C)  Display facllities (D)  Facilities for experiments.
IR fae wa-Fw ¥ Yo sravaEw 7 d 2 |
() ferfa, s v wm ' (B) YW TH qraIeTd &1 Werd ¥
(C) Wi %t glaw o (D) wanh Ft gfaw |
144. The classroom processes in Soctal Science help in developing
(A)  Knowledge (B} Skill .
(@] Ex‘f:reaston (D)  All of these.
wtees e # wan-we uiwar el w0 ¥ aggs oo
@ ™ ® Fvwwm
0 sfefe D) ¥ &

i . - ier0
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145. The main problem of Soclal Science teaching is

146.

147,

148.

149.

150.

NI T
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: 7 6 )
.'r-‘-. l,-:‘:.t y
l\ [ J

{A) small classrooms (B)
(C) untrained teachers

A fagm a1 & 9 99 §

A) B wE-FHY B)
) emfafer srargs o)

o

increasing teacher-student ratio
lack of library facilities.

HATFH-BE FAA F gfg
Twed gfawat F w4 |

Which one of the following project types has been suggested by Thomas M. Risk for

secondary schools ?

Economic projects
Environmental projects.

frafafes 4 8 =F-T & TESA F1 TR 48 ™o frar 3 meafie famea & fag wiaafea

(A)  Social projects (B)
(C) Productive projects (D)
T en 2

(A} g JESET (B)
(C) SHEH AN (D)

i g,
atarota w7

Which one of the following is the main objective of evaluation in Social Science ?
(A} Assessment of the knowledge of the students

(B} Better classroom teaching

(C)  Educational planning

(D} Social development.

frfafes o @ #4- mwmﬁmmﬁﬁqﬁqﬁﬁwg@'ﬁw% ?

(A) IHE F A F A (B) SUW FHI-HY AATH

© faw frdrem (D) wfas fawE |

Which is not a characteristic of a goo-d evaluation ? '

(&)  Validity (B)  Reliability

(C)  Diagnosticity (D) Negativeness.

7S YEIIEHA F HE-6 T faviva € ¥ 2 |

@ A B)  favawtam

() T (D) FEOHSA |

Field trips are useful in Social Science for the

(A} Evaluation (B) Empirical evidences

(o} Ente;tah1ment (D)  all of these. @
ot fagm o e o 3w ek | »
A et ¥ ol B) smufas wsy & fag /
(0 wArm ¥ ferm D) FEIMR

Which type of teaching aids are most useful in Social Science ?

(A}  Models | {(B) Museum

(C} Audio-visual aids (D) Drawing’'equipment.
mmﬁmmmmmmmmﬁmw '

)  HEd (B) wERE™

(C (D) " ITEW |

3¥a- 95 Tl
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SECTION - Il
LANGUAGE - |

ENGLISH SANSKRIT SINDHI PUNJABI GUJRATI
31 31 C 31 B 31 D 3 c 31 D 31 A
32 32 A 32 A 32 D 32 B 32 A 32 D
33 B 33 D 33 C 33 A 33 A 33 A 33 C
34 B 34 C 34 A 34 A 34 c 34 A 34 B
35 p) 35 B 35 D 35 B 35 B 35 ¢ 35 B
36 D 36 B 36 C 36 C 36 A 36 C 36 A
37 A 37 C 37 A 37 B 37 c 37 D 37 C
38 A 38 A 38 B 38 g 38 B 38 B 38 A
39 c 39 B 39 A 39 D 39 B 39 D 39 D
a0 B 40 B 40 C 40 8 40 D 40 D a0 C
a1 A 41 D a1 A 41 C 41 A a1 B 41 A
a2 D 42 C a2 B 42 A 42 c a2 D 42 B
43 B 43 ¢ 43 ¢ 43 D 43 D 43 D 43 ¢
a4 D a4 B a4 D 44 C a4 A a4 B 44 D
45 b 45 A a5 B 45 D 45 B 45 B 45 A
a6 c 46 C 46 A 46 A 46 D 46 A 46 D
a7 c 47 D a7 C 47 C 47 C a7 D 47 A
48 b 48 B 48 8 48 B 48 B 48 D 48 B
49 B 43 c 49 C 49 D 49 c 49 c 49 A
50 B 50 A 50 A 50 8 50 D 50 A 50 D
51 A 51 D 51 C 51 D 51 D 51 D 51 A
52 C 52 D 52 B 52 A 52 D 52 D 52 C
53 A 53 B 53 ¢ 53 D 53 ¢ 53 B 53 B
54 | BON 54 C 54 C 54 C 54 c 54 D 54 D
55 A 55 C 55 A 55 B 55 A 55 B 55 C
56 A 56 D 56 D 56 N 56 D 56 D 56 C
57 D 57 A 57 A 57 A 57 C 57 D 57 D
58 A 58 D 58 ¢ 58 ¢ 58 A 58 D 58 A
59 | BCD | 59 B 59 D 59 D 59 D 59 A 59 B
50 A 60 A 60 C 60 D 60 B 60 D 60 C
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SECTION - IV {a)

MATHS. AND SCIENCE

SECTION - IV (b)

SOCIAL STUDIES

SECTION - Il
LANGUAGE-II
HINDI ENGLISH SANSKRIT URDU SINDHI PUNJABI GUJRATI
61 C 61 A 61 A 61 A 61 C 61 A 61 B
62 B 62 D 62 C 62 C 62 B 62 B 62 A
63 A 63 A 63 D 63 D 63 D 63 D 63 | AD
64 | AC | 64 C 64 B 64 B 64 A 64 C 64 D
65 ¢ 65 D 65 ¢ 65 ¢ 65 ¢ 65 B 65 C
66 D 66 B 66 B 66 | 8D | &6 B 66 B 66 B
67 c 67 D 67 c 67 A 67 B 67 A 67 D
68 D 68 ¢ 68 ¢ 68 D 68 D 68 A 68 A
69 A 69 A 69 B 69 ¢ 69 A 69 C 69 A
70 ¢ 70 A 70 C 70 C 70 B 70 D 70 C
71 c 71 c 71| a | M ) 71 B 71 C 71 D
72 B 72 B 72 C 72 B 72 D 72 C 72 C
73 0 73 B 73 B 73 D 73 ¢ 73 B 73 B
74 A 74 D 74 A 74 | BONUS | 74 B 74 D 74 B
75 B 75 B 75 B 75 A 75 C 75 A 75 A
76 B 76 C 76 C 76 B 76 B 76 C 76 C
77 B 77 D 77 B 77 C 77 C 77 C 77 D
78 C 78 A 73 [BD | 78 C 78 D 78 C 78 A
79 B 79 B 79 | BONUS | 79 D 79 A 79 B 79 A
80 A 80 A 80 B 80 ¢ 80 ¢ 80 D 80 D
81 B 81 C 81 A 81 B 81 C 81 B 81 C
82 | asD | &2 B 82 C 82 B 82 A 82 C 82 A
83 D 83 C 83 B 83 B 83 C 83 D 83 C
84 C 84 D 84 D 84 ¢ 84 A 84 D 84 B
85 D 85 A 85 D 85 ¢ 85 D 85 D 85 A
86 B 86 B 86 C 86 C 86 B 86 B 86 D
87 C 87 C 87 B 87 B 87 C 87 B 87 B
88 0 88 A 88 A 88 A 88 D 88 B 88 ¢
89 D 89 A 89 C 89 C 89 D 89 A 89 B
30 D 90 C 90 B 30 B 90 C 90 B 90 C
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91 D 121 C
92 A 122 D
93 C 123 A
94 B 124 C
95 D 125 A
96 B 126 A
97 C 127 D
28 A 128 C
99 D 129 D
100 A 130 A
101 C 131 D
102 B 132 C
103 D 133 B
104 B 134 C
105 D 135 A
106 A 136 A
107 C 137 B
108 A 138 A
108 C 139 D
110 B 140 B
111 A 141 C
112 B 142 A
113 C 143 C
114 A 144 B
115 | BONUS | 145 | BONUS
116 D 146 A
117 D 147 D
118 C 148 B
119 D 149 D
120 B 150 A

91 ] 121 D
92 A 122 D
93 C 123 g
94 B 124 A,D
95 2] 125 C
96 C 126 B
97 B 127 AB
38 g 128 D
99 A 129 A
100 A 130 B
101 C 131 C
102 B 132 D
103 ¢ 133 B
104 D 134 B
105 A 135 A
106 A 136 A
107 C 137 | BONUS
108 A 138 B,D
109 C 139 | BONUS
110 A 140 D
111 B 141 A
112 C 142 C
113 g 143 AC
114 B 144 D
115 A 145 | BONUS
116 ] 146 C
117 C 147 A
118 g 148 D
119 A 149 B
120 D 150 C
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